Interpretation of acute injury of head and spine:
1- Regarding imaging of the head and spine, all of the following are true, EXCEPT:
a- CT plays an important role in spinal trauma.

b- Myelography involves injecting a contrast material intravenously  to visualize the spine. 
c- MRI replaced Myelography in imaging the head and spine.

d- On X-ray, the cervical group of vertebrae are 7.

e- The 1st cervical vertebra is called “atlas”.
2- A patient has prostate cancer, the best modality to exclude any bony metastasis in the skull is:

a- Radionuclide scan.

b- MRI.

c- CT scan.

d- Myelography.

e- X-ray.

3- All are true regarding collapse of vertebral bodies, EXCEPT:

a- It’s best appreciated on a lateral plain film of the spine.

b- It may be cause by trauma.
c- It’s important to check if the pedicles are damaged.

d- It may be associated with disc space narrowing.

e- The most common cause is infection.

4- Regarding the spine, which of the following is true:

a- The 11th Thoracic vertebra is the vertebra that is attached to the last rib.

b- The Cervical vertebrae are 8 in number.

c- The space between the odontoid process and the anterior arch of atlas is approximately 3mm.

d- The odontoid process of axis joins the 3rd Cervical vertebra.
e- The Thoracic vertebrae are 11 in number.

5- Regarding epidural hemorrhage, choose the correct answer:

a- It occurs in older age group compared to subdural hemorrhage.

b- It’s curvilinear in shape.

c- It occurs between the dura matter and the brain tissue. 

d- It’s usually caused by trauma.
e- It’s not limited by sutures.

6- Regarding edema of the brain, choose the correct answer:

a- Vasogenic edema doesn’t respond to steroids.

b- Cytotoxic edema is due to cerebrovascular accident (CVA) or infarction of the brain.
c- Cytotoxic edema responds to steroids.

d- Vasogenic edema is intracellular.

e- Cytotoxic edema is extracellular.

7- Cytotoxic edema can be caused by which of the following:

a- Gliomas.

b- Cerebrovascular accident (CVA).

c- Infection.

d- Metastasis

e- Dehydration.
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8- Regarding this image, all are true, EXCEPT:

a- 2 is the vertebral body.

b- 3 is the left pedicle.

c- 1 is the Aorta.

d- 4 is the spinal canal

e- This is CT of the lumbar spine.

9- MRI is able to visualize:

a- Vertebral body.

b- The intervertebral body.

c- Spinal canal.

d- Spinal canal contents.

e- All of above.

10- Which material is used in radionuclide bone scan:

a- Tc 99 m MDp.

b- I123 MIBG.

c- Thallium 201.

d- Xe 133.

e- None of the above.

11- What is the aetiology of Hangman's fracture:

a- Collapsed vertebral body.

b- Fracture of pars interarticularis.

c- Disc prolapsed of C3.

d- TB of spine.

e- None of the above.

12- The normal distance between the the anterior arch of atlas and the odontoid process of axis is:

a- 3 cm.

b- 6 cm.

c- 6 mm.

d- 3 mm.

e- 4 mm.

13- The best view to see spondylolisthesis:

a- Erect plain film.

b- Lateral projection of the spine.

c- Oblique projection of the spine.

d- AP spine.

e- PA spine.

14- The defect in spondylolysis is:

a- Defect in pars interarticularis only.

b- Defect in pars interarticularis with a slip of vertebral body on other vertebra.

c- Slip of vertebral body of L4 onto L5.
d- Disc prolapsed.

e- None of the above.
15- Regarding disc prolapse, all of the following are true, EXCEPT:

a- It compresses the adjacent nerve root.

b- It may be centrally, paracentrally or laterally.

c- Commonly occurs in lower cervical region.

d- We can use Myelography in diagnosis of disc prolapse.

e- We can use MRI in diagnosis of disc proloapse.

16- Regarding subdural hematoma of the brain, all are true, EXCEPT:

a- It occurs in older age group compared to epidural hemorrhage.

b- It’s curvilinear in shape.

c- It occurs between the dura matter and the brain tissue. 

d- It's mostly due to arterial hemorrhage.
e- It’s not limited by sutures.

17- All of the following are true regarding herniation of the brain, EXCEPT:

a- The only cause of herniation is hematoma.

b- Uncal herniation is herniation of the parahippcampus region.

c- Subfalcine herniation is a midline shift of cerebral hemisphere.

d- Meningioma can cause midline shift.

e- Uncal herniation can affect 3rd cranial nerve.

18- Regarding this image, all are true, EXCEPT:
a- This is CT scan image.
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The arrow points to a subdural hematoma.

c- The arrow points to an epidural hematoma.

d- The arrow points to hyperdense lesion.

e- This is brain window of CT scan.

19- John is 20 years old, he had a car accident and came to you in the Emergency Department of KKUH. After that you did a CT scan to him, the findings were some hemorrhage that was limited by sutures. Based on this finding the pathology is most likely:

A- Epidural hematoma.

B- Subdural hematoma.

C- Subarachnoid hematoma.

D- Intra parenchymal hematoma.

E- Intra ventricular hematoma.

20- Regarding brain hemorrhage induced by hypertension, which of the following is the commonest site:

A- Midbrain.

B- Basal Ganglia.

C- Frontal lobe.

D- Lateral Ventricle.

E- Cerebellum.

21- All of the following modalities can be employed to detect lesions in the spine, except:

A- CT scan.

B- MRI.

C- Ultrasound.

D- Plain film.

E- Radionuclide scan.

22- All of the following statements are true, except:
A- In lateral projection of the spine, the spine looks slightly extended outwards at the thoracic region.

B- MRI plays an important role in detecting inflammatory and degenerative changes in the spine.

C- CT is best employed in cases of spinal trauma.

D- Subdural hematoma is not limited by sutures.

E- The space between the anterior arch of atlas and odontoid process of axis can be affected by Rheumatoid Arthritis.

23- Which of these findings may be considered normal in head and spine imaging:

A- A hyperdense area under the dura matter.

B- Calcification in the choroid plexus.

C- A fracture in one of the pedicles.

D- Absence of the lateral ventricle.

E- Shift of one hemisphere to the other side i.e. midline shift.
